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1. In the following figure, if the coordinates of

 are  then the coordinates of 

and  are respectively

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (a, b, c) A, B

C

(a, 0, 0), (b, 0, 0), (c, 0, 0)

(a, 0, 0), (0, b, 0), (0, 0, c)

(0, 0, a), (0, b, 0), (c, 0, 0)

(a, b, c), (b, c, a), (c, a, b)

https://dl.doubtnut.com/l/_uN0LgOdljI9r


2. In Fig 4 the coordinates of point D are

Watch Video Solution

3. In fig. 28.7 if the coordinates of point


 then
 Write the coordinates of

points A, B, C, D, E and F.
Write the coordinates

of the feet of the perpendiculars from the

point
 P to the coordinate axes.
 Write the

coordinates of the feet of the perpendicular

from the point 
 on the coordinate planes 


 Find the perpendicular

P  are (a, b, c)

P

XY ,  Y Z and ZX.

https://dl.doubtnut.com/l/_FZ6RQntmr4Wa
https://dl.doubtnut.com/l/_snB4hSJTCd1M


distances of point 
from 

planes.
Find the perpendicular distances of the

point 
 fro the coordinate axes.
 Find the

coordinates of the reflection of 
are 
 .

Therefore 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

P XY , Y Z and ZX −

P

P (a, b, c)

OA = a,  OB = b nd OC = ⋅

(a, b, 0), (0, b, c), (a, 0, c)

(a, b, 0), (b, c, 0), (a, c, 0)

(0, b, c), (a, 0, c), (a, b, 0)

(a, 0, c), (0, b, c), (a, b, 0)

https://dl.doubtnut.com/l/_snB4hSJTCd1M


4. In fig. 28.7 if the coordinates of point


 then
 Write the coordinates of

points A, B, C, D, E and F.
Write the coordinates

of the feet of the perpendiculars from the

point
 P to the coordinate axes.
 Write the

coordinates of the feet of the perpendicular

from the point 
 on the coordinate planes 


 Find the perpendicular

distances of point 
from 

planes.
Find the perpendicular distances of the

point 
 fro the coordinate axes.
 Find the

P  are (a, b, c)

P

XY ,  Y Z and ZX.

P XY , Y Z and ZX −

P

https://dl.doubtnut.com/l/_snB4hSJTCd1M
https://dl.doubtnut.com/l/_Zo9PkCCXjJbe


coordinates of the reflection of 
are 
 .

Therefore 

A. 

B. 

C. 

D. none of these

Answer: C

View Text Solution

P (a, b, c)

OA = a,  OB = b nd OC = ⋅

a, b, c

b, c, a

c, a, b

https://dl.doubtnut.com/l/_Zo9PkCCXjJbe


5. In fig. 28.7 if the coordinates of point


 then
 Write the coordinates of

points A, B, C, D, E and F.
Write the coordinates

of the feet of the perpendiculars from the

point
 P to the coordinate axes.
 Write the

coordinates of the feet of the perpendicular

from the point 
 on the coordinate planes 


 Find the perpendicular

distances of point 
from 

planes.
Find the perpendicular distances of the

point 
 fro the coordinate axes.
 Find the

P  are (a, b, c)

P

XY ,  Y Z and ZX.

P XY , Y Z and ZX −

P

https://dl.doubtnut.com/l/_tv64nioWtrFQ


coordinates of the reflection of 
are 
 .

Therefore 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

P (a, b, c)

OA = a,  OB = b nd OC = ⋅

√a2 + b2, √b2 + c2, √c2 + a2

√b2 + c2, √c2 + a2, √a2 + b2

√c2 + a2, √a2 + b2, √b2 + c2

a, b, c

https://dl.doubtnut.com/l/_tv64nioWtrFQ


6. In the adoining figure if the coordinates of

point P are  write the coordinates of

A,B,C,D,E and F.


A. 

B. 

C. 

(a, b, c)

(a, b, − c), ( − a, b, c), (a, − b, c)

(a, − b, − c), ( − a, b, − c), ( − a, − b, c)

( − a, − b, c), (a, − b, − c), ( − a, b, − c)

https://dl.doubtnut.com/l/_8SfYU5XWPBcl


D. 

Answer: A

Watch Video Solution

(a, b, 0), (0, b, c), (a, 0, c)

7. Planes are drawn parallel to the coordinate

planes through the point 
 and 


 . Find the length of the edges of

the parallelopiped so formed.

A. 

B. 

P (x1, y1,  z1)

Q(x2, y2, z2)

x2 − x1, y2 − y1, z2 − z1

x2 + x1, y2 + y1, z2 + z1

https://dl.doubtnut.com/l/_8SfYU5XWPBcl
https://dl.doubtnut.com/l/_GSQDGiSfHzbH


C. 

D. none of these

Answer: A

Watch Video Solution

x1x2, y1y2, z1z2

8. The perpendicular distance of the point

 from y-axis is

A. 5 units

B. 6 units

(6, 5, 8)

https://dl.doubtnut.com/l/_GSQDGiSfHzbH
https://dl.doubtnut.com/l/_X9zQpuy1kP1J


C. 8 units

D. 10 units

Answer: D

Watch Video Solution

9. If the extremities of the diagonal fo a square

are (1,-2,3) and
 (2,-3,5), then the length of the

side is
 
b. 
c. 
d. 

A. 

√6 √3 √5 √7

√6

https://dl.doubtnut.com/l/_X9zQpuy1kP1J
https://dl.doubtnut.com/l/_1s7tDwcB0cNB


B. 

C. 

D. 

Answer: B

Watch Video Solution

√3

√5

√7

10. Find the coordinates of a point equidistant

from th four points

O(0, 0, 0), A(a, 0, 0), B(0, b, 0)andC(0, 0, c).

https://dl.doubtnut.com/l/_1s7tDwcB0cNB
https://dl.doubtnut.com/l/_CIsMIIEooQXd


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a, b, c)

(a/2, b/2, c/2)

(a/3, b/3, c/3)

(a/4, b/4, c/4)

11. Determine the point in 
 whcih

is equidistant from three points

XY − plane

A(2, 0, 3), B(0, 3, 2)andC(0, 0, 1).

https://dl.doubtnut.com/l/_CIsMIIEooQXd
https://dl.doubtnut.com/l/_ZLFhOJdWPb9K


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(2, 0, 8)

(0, 3, 1)

(3, 2, 0)

(3, 2, 1)

12. The cosine of the angle of the triangle with

vertices  and 

 is

A(1, − 1, 2), B(6, 11, 2)

C(1, 2, 6)

https://dl.doubtnut.com/l/_ZLFhOJdWPb9K
https://dl.doubtnut.com/l/_3RKkE6AqFVbS


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

63

65

36

65

16

65

13

64

13. Let  and  are two

points and as point  on  is such that 

, then the coordinates of  are

P (2, − 1, 4) Q(4, 3, 2)

R PQ

3PQ = 5QR R

https://dl.doubtnut.com/l/_3RKkE6AqFVbS
https://dl.doubtnut.com/l/_bMdJVVRsSiZK


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

( , , )
14
5

3

5

16

5

( , , )
16

5
7
5

14
5

( , , )
11

4

1

2

13

4

14. Let  and  be the

points and C be a point on AB produced such

A(2, − 1, 4) B(0, 2, − 3)

https://dl.doubtnut.com/l/_bMdJVVRsSiZK
https://dl.doubtnut.com/l/_3BUoge423y7f


that , then the coordinates of C

are

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

2AC = 3AB

( , , − )
1

2

5

4

5

4

( − , , − )
1

2
7
4

13

4

(6, − 7, 18)

https://dl.doubtnut.com/l/_3BUoge423y7f


15. Find the ratio in which the line joining the

points 
 is divided by

the 
 . Also, find the coordinates of

the point of
division.

A. 3:5 internally

B. 5:3 externally

C. 3:5 externally

D. 5:3 internally

Answer: A

Watch Video Solution

(1, 2, 3)and( − 3, 4, − 5)

xy − plane

https://dl.doubtnut.com/l/_pYT2WYN4rjGt


16. In triangle ABC the mid point of the sides

AB, BC and AC respectively (l, 0, 0), (0, m, 0) and

(0, 0, n). Then,  is equal to

A. 2

B. 4

C. 8

D. 16

Answer: C

Watch Video Solution

AB2 + BC 2 + CA2

l2 + m+n2

https://dl.doubtnut.com/l/_pYT2WYN4rjGt
https://dl.doubtnut.com/l/_5tbMkWTeU0Wm


Watch Video Solution

17. Find the coordinate of the point where the

line through (5, 1, 6) and
 (3, 4, 1) crosses the i.

yz-plane ii.
zx-plane.

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

(0, , )
17
2

13

2

(0, − , )
17
2

13

2

(0, , − )
17
2

13

2

(0, − , − )
17
2

13

2

https://dl.doubtnut.com/l/_5tbMkWTeU0Wm
https://dl.doubtnut.com/l/_jBo3TpPEgxcO


Watch Video Solution

18. Find the ratio in which the join the


 is divided by the plane 


 Also, find the coordinates

of the point of
division.

A. 

B. 

C. 

D. 

A(2, 1, 5)andB(3, 4, 3)

2x + 2y − 2z = 1.

7: 5

5: 7

5: 3

3: 5

https://dl.doubtnut.com/l/_jBo3TpPEgxcO
https://dl.doubtnut.com/l/_kmCtzi2cEsHv


Answer: B

Watch Video Solution

19. If a vector  makes an angles 

respectively with the x, y and z axes

respectively. Then  is

equal to

A. 1

B. 2

C. 3

→
A α, β and γ

sin2 α + sin2 β + sin2 γ

https://dl.doubtnut.com/l/_kmCtzi2cEsHv
https://dl.doubtnut.com/l/_WTChbqYDbpah


D. none of these

Answer: B

Watch Video Solution

20. If a line makes angles 
 with the axes

respectively tehn 


b. 
c. 
d. 2

A. 2

B. -1

α, β, γ

cos 2α + cos 2β + cos 2γ =

−2 −1 1

https://dl.doubtnut.com/l/_WTChbqYDbpah
https://dl.doubtnut.com/l/_owhUhcyPcnOx


C. 1

D. 2

Answer: B

Watch Video Solution

21. If a line makes angle 
 with x-axis

and y-axis respectively, then the angle made by

the line
 with z-axis is
 
 b. 
 c. 
 d. 

A. 

 and 
π

3

π

4

π/2 π/3 π/4

5π/12

π

2

https://dl.doubtnut.com/l/_owhUhcyPcnOx
https://dl.doubtnut.com/l/_tWdfytSPle8b


B. 

C. 

D. 

Answer: B

Watch Video Solution

π

3

π

4

5π

12

22. The direction cosines of a vector  which is

equally inclined with OX,OY and OZ are

A. 

→
r

± , ± , ±
1

√3

1

√3

1

√3

https://dl.doubtnut.com/l/_tWdfytSPle8b
https://dl.doubtnut.com/l/_8sAXx6WE26Vg


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

± , ± , ±
1

3

1

3

1

3

± , ± , ±
1

√2

1

2

1

2

23. A vector 
 is inclined at equal to


 If the magnitude of 
 is 6

units, find 

→
r

OX, OY andOZ.
→
r

→
r .

https://dl.doubtnut.com/l/_8sAXx6WE26Vg
https://dl.doubtnut.com/l/_06ge6mkzCf8n


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

√3( ± î ± ĵ ± k̂)

2√3( ± î ± ĵ ± k̂)

6( ± î ± ĵ ± k̂)

24. If OA is equally inclined to OX,OY ,OZ and if

A is  units from the origin then the

cordinates of A are

√3

https://dl.doubtnut.com/l/_06ge6mkzCf8n
https://dl.doubtnut.com/l/_PL1c5FQXBTJQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3, 3, 3)

( − 1, 1, − 1)

( − 1, 1, 1)

(1, 1, 1)

25. If  are direction cosines of a line,

then the value of  is

, , n
1

2

1

3

n

https://dl.doubtnut.com/l/_PL1c5FQXBTJQ
https://dl.doubtnut.com/l/_uFYITuBUxLhu


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√23

6

23

6

2

3

1

6

26. If the direction ratios of a line are

proportional to ( 1, -3, 2 ) then its
 direction

cosines are
 
 b. , − ,
1

√14

3

√14

2

√14

https://dl.doubtnut.com/l/_uFYITuBUxLhu
https://dl.doubtnut.com/l/_cyYGhl7DWAdi



 c. 
 d. 

A. ,

B. 

C. 

D. 

Answer: A

Watch Video Solution

, ,
1

√14

2

√14

3

√14
− , ,

1

√14

3

√14

2

√14

− , − , −
1

√14

2

√14

3

√14

, ,
1

√14

−3

√14

2

√14

, ,
1

√14

2

√14

3

√14

− , ,
1

√14

3

√14

2

√14

− , ,
1

√14

−2

√14

−3

√14

https://dl.doubtnut.com/l/_cyYGhl7DWAdi


27. The projections of a line segment on the

coordinate axes are 12,4,3 respectively. The

length and direction cosines of the line

segment are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

13, , ,
12

13
4
13

3

13

19, , ,
12

19
4
19

3

19

11, , ,
12

11
14
11

3

11

https://dl.doubtnut.com/l/_rtPWbjHnLB9J


28. If  is a vector of magnitude 21 and has

direction ratios 2, -3 and 6, then find .

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

→
r

→
r

6 î + 9ĵ − 18k̂

6 î − 9ĵ − 18k̂

6 î − 9ĵ + 18k̂

https://dl.doubtnut.com/l/_rtPWbjHnLB9J
https://dl.doubtnut.com/l/_d9zFNBi5ZzZB


29. If  is a point on the line segment

joining Q(2,2,4) and R(3,5,6) such that the

projection of  on the axes are 

respectively, then P divides QR in the ratio:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P (x, y, z)

−−→
OP , ,

13

9

19

5

26

5

1: 2

3: 2

2: 3

3: 1

https://dl.doubtnut.com/l/_Qmzs8jGK8g9U


30. The direction cosines of the line passing

through  and the origin are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P (2, 3, − 1)

, ,
2

√14

3

√14

1

√14

, − ,
2

√14

3

√14

1

√14

− , − ,
2

√14

3

√14

1

√14

− , − , −
2

√14

3

√14

1

√14

https://dl.doubtnut.com/l/_Qmzs8jGK8g9U
https://dl.doubtnut.com/l/_DK5uJ0DNGLYK


31. The projection of the line segment joining

the points  and  on the

line whose direction ratios are proportional to

6,2,3 is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

A( − 1, 0, 3) B(2, 5, 1)

10

7

22

7

18

7

https://dl.doubtnut.com/l/_rdXxANbOc5wg


32. The direction cosines of a vector  which is

equally inclined with OX,OY and OZ are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
r

± , ± , ±
1

√3

1

√3

1

√3

± , ± , ±
1

3

1

3

1

3

± , ± , ±
1

√2

1

2

1

2

https://dl.doubtnut.com/l/_rdXxANbOc5wg
https://dl.doubtnut.com/l/_T9l7y9pW56nt


33. A vector 
 is inclined at equal to


 If the magnitude of 
 is 6

units, find 

Watch Video Solution

→
r

OX, OY andOZ.
→
r

→
r .

34. Find the angle between two lines whose

direction
 ratios are proportional to


.

A. 

B. 

1, 1, 2and(√3 − 1), ( − √3 − 1), 4

45∘

30∘

https://dl.doubtnut.com/l/_OfpcqNGjAf6s
https://dl.doubtnut.com/l/_0pam788wJYPw


C. 

D. 

Answer: A

Watch Video Solution

60∘

90∘

35. If 

are three points then 
 
b. 
c. 
d. 

A. 

P (0, 1, 2),  Q(4, − 2, 1)and O(0, 0, 0)

POQ =
π

6

π

4

π

3
π

2

π

6

https://dl.doubtnut.com/l/_0pam788wJYPw
https://dl.doubtnut.com/l/_42XuEUYUuP1p


B. 

C. 

D. 

Answer: D

Watch Video Solution

π

4

π

3

π

2

36. If A,B,C,D are (2,3,-1),(3,5,-3),(1,2,3),(3,5,7)

respectively, then the angel between AB and CD,

is

https://dl.doubtnut.com/l/_42XuEUYUuP1p
https://dl.doubtnut.com/l/_foa4oZRPpR9E


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

2

π

3

π

4

π

6

37. Find the angle between the lines whose

direction cosines are given by the equation

 and l + m + n = 0 l2 + m2 − n2 = 0

https://dl.doubtnut.com/l/_foa4oZRPpR9E
https://dl.doubtnut.com/l/_13THubdJHFXP


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

2

π

3

π

4

π

6

38. ABC is a triangle in a plane with vertices

 and . If the

median through A is equally inclined to the

A(2, 3, 5), B( − 1, 3, 2) C(λ, 5, μ)

https://dl.doubtnut.com/l/_13THubdJHFXP
https://dl.doubtnut.com/l/_vL8GeIrsyp8y


Section I Solved Mcqs

coordinate axes, then the value of 

is

A. 676

B. 1130

C. 1348

D. 1077

Answer: C

Watch Video Solution

λ3 + μ3 + 5

https://dl.doubtnut.com/l/_vL8GeIrsyp8y


1. For every point 
on the
xy-plane,
a.


b. 
c. 
d. 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

P (x,  y,  z)

x = 0 y = 0 z = 0 x = y = z = 0

x = 0

y = 0

z = 0

https://dl.doubtnut.com/l/_X1e8Mo0bPNLw


2. For every point  on the x-axis,

(except the origin),

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

P (x, y, z)

x = 0, y = 0, y ≠ 0

x = 0, z = 0, y ≠ 0

y = 0, z = 0, x ≠ 0

https://dl.doubtnut.com/l/_m05sSFkJXqck


3. A rectangular parallelopiped is formed by

planes drawn through the points  and 

 parallel to the coordinate planes. The

length of an edge of this rectangular

parallelopiped is

A. 2

B. 3

C. 4

D. all of these

Answer: D

(5, 7, 9)

(2, 3, 7)

https://dl.doubtnut.com/l/_gcH48Lw26iyW


Watch Video Solution

4. A rectangular parallelepiped is formed by

planes drawn through the points

 parallel to the

coordinate planes. The length of a diagonal of

the parallelepiped is

A. 7

B. 

C. 

D. none of these

(2, 3, 5) and (5, 9, 7)

√38

√155

https://dl.doubtnut.com/l/_gcH48Lw26iyW
https://dl.doubtnut.com/l/_YS0O8pniFawG


Answer: A

Watch Video Solution

5. The xy-plane divides the line joining the

points (-1,3,4) aned (2,-5,6)

A. internally in the ratio 2:3

B. externally in the ratio 2:3

C. internally in the ratio 3:2

D. externally in the ratio 3:2

https://dl.doubtnut.com/l/_YS0O8pniFawG
https://dl.doubtnut.com/l/_Npt4Vp8d0CgB


Answer: B

Watch Video Solution

6. Verify the following: (5,-1,1),(7,-4,7), (1,-6,10) and

(-1,-3,4) are
the vertices of a rhombus.

A. trapezium

B. rectangle

C. rhombus

D. square

https://dl.doubtnut.com/l/_Npt4Vp8d0CgB
https://dl.doubtnut.com/l/_Yi4aimT1Sii0


Answer: C

Watch Video Solution

7. A line makes an angle of 
 with each
 of X-

axis and Y-axis. Find the acute angle made by

the line with Z-axis.

A. 

B. 

C. 

D. 

600

30∘

60∘

75∘

45∘

https://dl.doubtnut.com/l/_Yi4aimT1Sii0
https://dl.doubtnut.com/l/_ZH2vTSkIdnUY


Answer: D

Watch Video Solution

8. If the direction cosines of a line are

 then :

A. 

B. 

C. 

D. 

( , , )
1

c

1

c

1

c

0 < c < 1

c > 2

c > 0

c = ± √3

https://dl.doubtnut.com/l/_ZH2vTSkIdnUY
https://dl.doubtnut.com/l/_zmiLL9HoRK6O


Answer: D

Watch Video Solution

9. Find the angle between the lines whose

direction cosines are given by the equation

 and 

A. 

B. 

C. 

D. 

l + m + n = 0 l2 + m2 − n2 = 0

0

π/6

π/4

π/3

https://dl.doubtnut.com/l/_zmiLL9HoRK6O
https://dl.doubtnut.com/l/_ALRlSdsAVdQS


Answer: D

Watch Video Solution

10. If the direction ratios of two lines are given

by ,

then the angle between the lines is

A. 

B. 

C. 

D. 

a + b + c = 0 and 2ab + 2ac − bc = 0

π

2π

3

π

2

π

3

https://dl.doubtnut.com/l/_ALRlSdsAVdQS
https://dl.doubtnut.com/l/_0RaXSRsjc7uf


Answer: B

Watch Video Solution

11. The angle between a line with direction

ratios  and a line joining the

points  is

A. 

B. 

C. 

D. none of these

< 2, 2, 1 >

(3, 1, 4) and (7, 2, 12)

cos − 1( )
2

3

cos − 1( − )
2

3

tan− 1( )
2

3

https://dl.doubtnut.com/l/_0RaXSRsjc7uf
https://dl.doubtnut.com/l/_Q554I6l6wsrL


Answer: A

Watch Video Solution

12. The projection of the line joining the ponts

 and  on the line joining the

points (-1,2,4) and (1,0,5) is

A. 

B. 

C. 

D. 

(3, 4, 5) (4, 6, 3)

4
3

2

3

1

3

1

2

https://dl.doubtnut.com/l/_Q554I6l6wsrL
https://dl.doubtnut.com/l/_3oKjHNZYenYk


Answer: A

Watch Video Solution

13. The projection of a line segment on the axis

2, 3, 6 respectively. Then find the length of line

segment.

A. 7

B. 5

C. 1

D. 11

https://dl.doubtnut.com/l/_3oKjHNZYenYk
https://dl.doubtnut.com/l/_el4lGvmn7QCO


Answer: A

Watch Video Solution

14. A line makes the same angle  with X-axis

and Z-axis. If the angle , which it makes with Y-

axis, is such that , then the

value of  is

A. 

B. 

C. 

θ

β

sin2(β) = 3 sin2 θ

cos2 θ

2

5

1

5

3

5

https://dl.doubtnut.com/l/_el4lGvmn7QCO
https://dl.doubtnut.com/l/_kot2uL7BoIlv


D. 

Answer: C

Watch Video Solution

2

3

15. A line AB in three-dimensional space makes

angles  with the positive X-axis

and The positive Y-axis, respectively. If AB makes

an acute angle  with the positive Z-axis, then 

equals

A. 

45∘ and 120∘

θ θ

60∘

https://dl.doubtnut.com/l/_kot2uL7BoIlv
https://dl.doubtnut.com/l/_WYREztXV0xhZ


B. 

C. 

D. 

Answer: A

Watch Video Solution

75∘

30∘

45∘

16. The angle between the lines whose direction

cosines satisfy the equations

 isl + m + n = 0 and l2 = m2 + n2

https://dl.doubtnut.com/l/_WYREztXV0xhZ
https://dl.doubtnut.com/l/_mgJUKH83hyx5


Exercise

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π/6

π/2

π/3

π/4

https://dl.doubtnut.com/l/_mgJUKH83hyx5


1. If the x-coordinate of a
point 
on the join of 


 then find its 


coordinate.

A. 2

B. 1

C. -1

D. -2

Answer: C

Watch Video Solution

P

Q(2, 2, 1)andR(5, 1, − 2)is4,

z −

https://dl.doubtnut.com/l/_sOeVkGZHEVYM


2. The distance of the point P(a,b,c)` from the x-

axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√b2 + c2

√a2 + c2

√a2 + b2

√a2 + b2 + c2

https://dl.doubtnut.com/l/_BPUwDYosdqlw


3. Ratio in which the xy-plane divides the join of

(1, 2, 3) and (4, 2, 1) is a. 3:1 internally b. 3:1

externally c. 1:2 internally d. 2:1 externally

A.  internally

B.  externally

C.  internally

D.  externally

Answer: B

Watch Video Solution

3: 1

3: 1

1: 2

2: 1

https://dl.doubtnut.com/l/_uIY4dk1klAwK


4. If P (3,2,−4) , Q (5,4,−6) and R (9,8,−10)   are

collinear, then   divides   in the ratio
 a. 3:2

internally         b. 3:2 externally             
 c. 2:1

internally         d. 2:1 externally

A.  internally

B.  externally

C.  internally

D.  externally

Answer: B

Watch Video Solution

3: 2

3: 2

2: 1

2: 1

https://dl.doubtnut.com/l/_k7HIfBiTOPJU


5.  are

three points forming a triangle. AD, the

bisector of angle BAC meets BC in D. Find the

coordinates of the point D.

A. 

B. 

C. 

D. none of these

Answer: A

A(3, 2, 0), B(5, 3, 2)C( − 9, 6, − 3)

(19/8, 57/16, 17/16)

( − 19/8, 57/16, 17/16)

(19/8, − 57/16, 17/16)

https://dl.doubtnut.com/l/_k7HIfBiTOPJU
https://dl.doubtnut.com/l/_FgcRRsP9kgHp


Watch Video Solution

6. A line passes through the
 points


Find te direction

cosines
 off the line if the line makes an acute

angle with the positive direction of
the x-axis.

A. 

B. 

C. 

D. 

(6, − 7, − 1)and(2, − 3, 1).

, − , −
2

3

2

3

1

3

− , ,
2

3

2

3

1

3

, − ,
2

3

2

3

1

3

, ,
2

3

2

3

1

3

https://dl.doubtnut.com/l/_FgcRRsP9kgHp
https://dl.doubtnut.com/l/_SkpfV5VWhi5q


Answer: A

Watch Video Solution

7. If a line makes angles 
 with the

positive direction of
 coordinate axes, then

write the value of 

A. 1

B. 2

C. 3

D. 4

α, β, γ

sin2 α + sin2 β + sin2 γ.

https://dl.doubtnut.com/l/_SkpfV5VWhi5q
https://dl.doubtnut.com/l/_RfAmwbsdOj6G


Answer: B

Watch Video Solution

8. If  is a point in space such that 

and  is inclied at angle of  and  with

OX and OY respectively, then the position

vector of  is

A. 

B. 

C. 

P OP = 12

−−→
OP 45∘ 60∘

P

6 î + tĵ ± 6√2k̂

6 î + 6√2ĵ ± 6k̂

6√2 î + 6√j ± 6k̂

https://dl.doubtnut.com/l/_RfAmwbsdOj6G
https://dl.doubtnut.com/l/_EN2n4R9J3cnS


D. none of these

Answer: C

Watch Video Solution

9. A vector 
 is inclined to 


 . Find the angle at

which 
is inclined to 

A. 

B.  or 

→
O P

OXat450 and OY at600

→
O P OZ.

75∘

60∘ 120∘

https://dl.doubtnut.com/l/_EN2n4R9J3cnS
https://dl.doubtnut.com/l/_3jfIKAqKP4cO


C.  or 

D. 

Answer: B

Watch Video Solution

75∘ 105∘

255∘

10. vector is equal inclined with the coordinate

axes. If the tip of  is in the positive octant and

 then  is:

A. 

→
r

∣
∣
→
r ∣

∣ = 6,
→
r

2√3( î − ĵ + k̂)

https://dl.doubtnut.com/l/_3jfIKAqKP4cO
https://dl.doubtnut.com/l/_UWTYNnFrf0sC


B. 

C. 

D. 

Answer: D

Watch Video Solution

2√3( − î + ĵ + k̂)

2√3( î + ĵ − k̂)

2√3( î + ĵ + k̂)

11. If  is a vector of magnitude 21 and has

direction ratios 2, -3 and 6, then find .

A. 

→
r

→
r

6 î − iĵ + 18k̂

https://dl.doubtnut.com/l/_UWTYNnFrf0sC
https://dl.doubtnut.com/l/_y5NtWAKbvrDg


B. 

C. 

D. 

Answer: A

Watch Video Solution

6 î + 9ĵ + 18k̂

6 î − 9ĵ + 18k̂

6 î + 9ĵ − 18k̂

12. The direction cosines of the lines bisecting

the angle between the line whose direction

cosines are  and the

angle between these lines is , are

l1, m1, n1 and l2, m2, n2

θ

https://dl.doubtnut.com/l/_y5NtWAKbvrDg
https://dl.doubtnut.com/l/_qi992s9T4fkb


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

, ,
l1 + l2

2 sin θ/2

m1 + m2

2 sin θ/2

n1 + n2

2 sin θ/2

, ,
l1 + l2

2 cos θ/2

m1 + m2

2 cos θ/2

n1 + n2

2 cos θ/2

, ,
l1 − l2

2 sin θ/2

m1 − m2

2 sin θ/2

n1 − n2

2 sin θ/2

, ,
l1 − l2

2 cos θ/2

m1 − m2

2 cos θ/2

n1 − n2

2 cos θ/2

13. Find the coordinates of the
 foot of the

perpendicular drawn from point 
 to

the join of points 

A(1, 0, 3)

B(4, 7, 1)andC(3, 5, 3).

https://dl.doubtnut.com/l/_qi992s9T4fkb
https://dl.doubtnut.com/l/_zLyJFbjZ2Qus


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(5/3, 7/3, 17/3)

(5, 7, 17)

(5/7, − 7/3, 17/3)

( − 5/3, 7/3, − 17/3)

14. The projections of a line segment on the

coordinate axes are 12,4,3 respectively. The

https://dl.doubtnut.com/l/_zLyJFbjZ2Qus
https://dl.doubtnut.com/l/_mpMsA2teKqnh


length and direction cosines of the line

segment are

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

, − ,
12

13
4
13

3

13

− , − ,
12

13
4
13

3

13

, ,
12

13
4
13

3

13

https://dl.doubtnut.com/l/_mpMsA2teKqnh


15. If  is a point on the line segment

joining Q(2,2,4) and R(3,5,6) such that the

projection of  on the axes are 

respectively, then P divides QR in the ratio:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P (x, y, z)

−−→
OP , ,

13

9

19

5

26

5

1: 2

3: 2

2: 3

1: 3

https://dl.doubtnut.com/l/_FCrgKMkPBMrI


16. If O is the origin, OP = 3, with direction ratios

-1, 2 and -2, then find the coordinates of P.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 1, 2, − 2)

(1, 2, 2)

( − 19, 2/9, − 2/9)

(3, 5, − 9)

https://dl.doubtnut.com/l/_FCrgKMkPBMrI
https://dl.doubtnut.com/l/_q2DDLmwGZRXN


17. A mirror and a source of light are situated at

the origin O and at a point on OX, respectively.

A ray of light from the sources strikes the

mirror and is reflected. If the direction ratios of

the normal to the plane are 1, -1, 1, then find the

DCs of the reflected ray.

A. 

B. 

C. 

D. 

, ,
1

3

2

3

2

3

− , ,
1

3

2

3

2

3

− , − , −
1

3

2

3

2

3

− , − ,
1

3

2

3

2

3

https://dl.doubtnut.com/l/_h0YqseColZDu


Answer: D

Watch Video Solution

18. Find the angle between any two diagonals

of a cube.

A. 

B. 

C. 

D. 

30∘

45∘

cos − 1( )
1

√3

cos − 1( )
1

3

https://dl.doubtnut.com/l/_h0YqseColZDu
https://dl.doubtnut.com/l/_CANNlveS1I0g


Answer: D

Watch Video Solution

19. A line makes angles  with the

diagonals of a cube. Show that

.

A. 

B. 

C. 

D. 

∠, β, γ and δ

cos2 α + cos2 β + cos2 γ + cos2 δ = 4/3

1/3

2/3

4/3

8/3

https://dl.doubtnut.com/l/_CANNlveS1I0g
https://dl.doubtnut.com/l/_0AthxVvdorBn


Answer: C

Watch Video Solution

20. If 

are three points then 
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

P (0, 1, 2),  Q(4, − 2, 1)and O(0, 0, 0)

POQ =
π

6

π

4

π

3
π

2

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_0AthxVvdorBn
https://dl.doubtnut.com/l/_Z8euWEoFbdpf


Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Z8euWEoFbdpf

